Settings: Date Range: 02/17/2025 - 03/02/2025 Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Floor Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier

Data for: 02/17/2025 05:00:00 to 03/03/2025 04:59:59

	2025 05:00:00 to 03/03/	2025 04:59:59	
, Admin Job Title	Pay Rate	Hours	Tota
JOD TILLE	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
•	Grand Total		\$0.0
	Avg Payrate		\$0.00
, benny			
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
, ethan Job Title	Day Pata	Haure	Tota
Job Title	Pay Rate Total	Hours 0.00	Tota \$0.0
Sales: \$0.00	Claimed Tips	0.00	\$0.0
Tips: \$0.00	Gratuity		\$0.0
11621 40100	Grand Total		\$0.0
	Avg Payrate		\$0.0
, QR Ordering	<u> </u>		
Job Title	Pay Rate	Hours	Tota
	Total	0.00	\$0.0
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$0.0
	Avg Payrate		\$0.0
Amaro, Gabriel			_
Job Title	Pay Rate	Hours	Tota
OC - Cook	\$10.00	79.21	\$792.1
OC - Cook - OT	\$15.00 <b>Total</b>	7.60 <b>86.82</b>	\$114.0 \$906.1
Sales: \$0.00	Claimed Tips	00.02	\$0.0
Tips: \$0.00	Gratuity		\$0.0
11631 46166	Grand Total		\$906.1
	Avg Payrate		\$10.4
Balli, Rebecca			
Job Title	Pay Rate	Hours	Tota
OC - Server	\$5.00	26.26	\$131.2
OC - Cashier	\$10.00	9.41	\$94.0
	Total	35.67	\$225.3
Sales: \$3,109.20	Claimed Tips		\$0.0
Tips: \$304.31	Gratuity		\$19.2
	Grand Total		\$548.9 \$15.3
Davasia Tiffanu	Avg Payrate		\$15. <b>5</b>
Barocio, Tiffany Job Title	Pay Rate	Цольк	Tota
OC - Server	\$2.15	<b>Hours</b> 22.15	\$47.6
OC - Cashier	\$10.00	14.88	\$148.7
o cusiner	Total	37.02	\$196.3
Sales: \$2,961.24	Claimed Tips		\$0.0
Tips: \$291.32	Gratuity		\$0.0
	Grand Total		\$487.6
			4
	Avg Payrate		\$13.1
Benavidez, Adrian	Avg Payrate		\$13.1
Job Title	Pay Rate	Hours	Tota
•	Pay Rate \$5.00	27.01	Tota \$135.0
Job Title OC - Server	Pay Rate \$5.00 Total		Tota \$135.0 \$135.0
Job Title OC - Server Sales: \$939.43	Pay Rate \$5.00 Total Claimed Tips	27.01	Tota \$135.0 \$135.0 \$0.0
Job Title OC - Server	Pay Rate \$5.00 Total Claimed Tips Gratuity	27.01	Tota \$135.0 \$135.0 \$0.0 \$0.0
Job Title OC - Server Sales: \$939.43	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total	27.01	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9
Job Title OC - Server Sales: \$939.43 Tips: \$79.93	Pay Rate \$5.00 Total Claimed Tips Gratuity	27.01	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9
Job Title OC - Server Sales: \$939.43 Tips: \$79.93  Cantu, Chanel	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	27.01 <b>27.01</b>	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9 \$7.9
Job Title OC - Server Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	27.01 27.01 Hours	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9 \$7.9
Job Title OC - Server Sales: \$939.43 Tips: \$79.93  Cantu, Chanel	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$10.00	27.01 27.01 Hours 39.68	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9 \$7.9
Job Title OC - Server  Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title OC - Cashier	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$10.00 Total	27.01 27.01 Hours	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9 \$7.9 Tota \$396.8 \$396.8
Job Title OC - Server  Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title OC - Cashier  Sales: \$0.00	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$10.00 Total Claimed Tips	27.01 27.01 Hours 39.68	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9 \$7.9 Tota \$396.8 \$396.8
Job Title OC - Server  Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title OC - Cashier	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$10.00 Total Claimed Tips Gratuity	27.01 27.01 Hours 39.68	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9 \$7.9 Tota \$396.8 \$396.8 \$0.0 \$0.0
Job Title OC - Server  Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title OC - Cashier  Sales: \$0.00	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$10.00 Total Claimed Tips	27.01 27.01 Hours 39.68	Tota \$135.0 \$135.0 \$0.0 \$0.0 \$214.9 \$7.9 Tota \$396.8 \$396.8 \$0.0 \$0.0
Job Title OC - Server  Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title OC - Cashier  Sales: \$0.00 Tips: \$0.00	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total	27.01 27.01 Hours 39.68	Tota \$135.00 \$135.00 \$0.00 \$214.90 \$7.90 Tota \$396.80 \$396.80 \$0.00 \$396.80
Job Title OC - Server  Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title OC - Cashier  Sales: \$0.00 Tips: \$0.00  Chapa, Oziel	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total	27.01 27.01 Hours 39.68	\$13.1:  Tota \$135.0: \$135.0: \$0.00 \$0.00 \$214.90 \$7.90  Tota \$396.8: \$0.00 \$0.00 \$396.8: \$10.00
Sales: \$939.43 Tips: \$79.93  Cantu, Chanel Job Title OC - Cashier  Sales: \$0.00 Tips: \$0.00	Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	27.01 27.01 Hours 39.68 39.68	Tota \$135.03 \$135.03 \$0.00 \$214.90 \$7.90 Tota \$396.83 \$396.83 \$0.00 \$396.83 \$10.00

Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
·	Grand Total		\$691.29
-	Avg Payrate		\$10.00
Cruz, Jorge	Dav. Data		Takal
Job Title OC - Cook	<b>Pay Rate</b> \$10.00	<b>Hours</b> 80.00	Total \$800.00
OC - Cook - OT	\$15.00	26.49	\$397.32
	Total	106.49	\$1,197.32
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$1,197.32 \$11.24
Cruz, Maria	Avgiayiate		711.Z <del>7</del>
Job Title	Pay Rate	Hours	Total
OC - Server	\$5.00	43.23	\$216.13
OC - Cashier	\$10.00	12.73	\$127.31
Salas: \$4,004.09	Total	55.96	\$343.44
Sales: \$4,904.98 Tips: \$450.36	Claimed Tips Gratuity		\$0.00 \$0.00
1153. 3430.30	Grand Total		\$793.80
	Avg Payrate		\$14.19
Duque, Tammara			
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.15	35.36	\$76.02 \$66.17
OC - Cashier	\$10.00 <b>Total</b>	6.62 <b>41.97</b>	\$66.17 \$142.19
Sales: \$2,367.10	Claimed Tips	71.37	\$0.00
Tips: \$195.57	Gratuity		\$16.11
	Grand Total		\$353.87
	Avg Payrate		\$8.43
Eguia, Jesus Alberto Job Title	Day Pata	Цолис	Total
OC - Cook	<b>Pay Rate</b> \$10.00	80.00	\$800.00
OC - Cook - OT	\$15.00	19.25	\$288.78
	Total	99.25	\$1,088.78
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$1,088.78 \$10.97
Esquivel, Kaylee	Avgiayiate		<b>Ψ10.57</b>
Job Title	Pay Rate	Hours	Total
OC - Cashier	\$10.00	25.54	\$255.35
OC - Server	\$2.15	28.67	\$61.65
Sales: \$8,703.47	Total Claimed Tips	54.21	\$317.00 \$0.00
Tips: \$656.65	Gratuity		\$32.31
	Grand Total		\$1,005.96
	Avg Payrate		\$18.56
ethan, ethan			_
Job Title	Pay Rate	Hours	Total
Sales: \$0.00	Total Claimed Tips	0.00	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Garcia, Junior			
Job Title	Pay Rate	Hours	Total
OC - Cook OC - Cook - OT	\$10.00 \$15.00	80.00 1.84	\$800.00 \$27.66
0C - C00K - 01	Total	81.84	\$827.66
Sales: \$0.00	Claimed Tips	02.0	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$827.66
Course Ashley	Avg Payrate		\$10.11
Garza, Ashley Job Title	Pay Rate	Hours	Total
	\$10.00	29.33	\$293.26
OC - Cashier	Total	29.33	\$293.26
			\$0.00
Sales: \$2,360.44	Claimed Tips		
	Gratuity		\$0.00
Sales: \$2,360.44	Gratuity Grand Total		\$0.00 \$425.34
Sales: \$2,360.44 Tips: \$132.08	Gratuity		\$0.00
Sales: \$2,360.44	Gratuity Grand Total	Hours	\$0.00 \$425.34
Sales: \$2,360.44 Tips: \$132.08 Gonzalez, Arturo Job Title	Gratuity Grand Total Avg Payrate Pay Rate Total	Hours 0.00	\$0.00 \$425.34 \$14.50 Total \$0.00
Sales: \$2,360.44 Tips: \$132.08  Gonzalez, Arturo Job Title  Sales: \$0.00	Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips		\$0.00 \$425.34 \$14.50 Total \$0.00 \$0.00
Sales: \$2,360.44 Tips: \$132.08 Gonzalez, Arturo Job Title	Gratuity Grand Total Avg Payrate Pay Rate Total		\$0.00 \$425.34 \$14.50 Total \$0.00

	Avg Payrate		\$0.00
Guadalupe de Leon, Ruben			
Job Title	Pay Rate	Hours	Total
OC - Floor Manager	\$15.00	58.07	\$871.04
OC - Cook	\$11.00	21.93	\$241.24
OC - Floor Manager - OT	\$22.50	31.81	\$715.61
0.1. 4000.00	Total	111.81	\$1,827.89
Sales: \$806.30	Claimed Tips		\$0.00
Tips: \$77.28	Gratuity		\$0.00
	Grand Total		\$1,905.17
	Avg Payrate		\$17.04
Hernandez, Alejandro			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$10.50	80.00	\$840.00
OC - Cook - OT	\$15.75	25.67	\$404.32
	Total	105.67	\$1,244.32
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$1,244.32
	Avg Payrate		\$11.78
Huerta, Paulina			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Lerma, Gia			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
•	Grand Total		\$0.00
	Avg Payrate		\$0.00
Lerma, Mia			
Job Title	Pay Rate	Hours	Total
OC - Server	\$2.15	13.10	\$28.17
OC - Cashier	\$10.00	4.75	\$47.50
o o odomer	Total	17.85	\$75.67
Sales: \$1,456.27	Claimed Tips		\$0.00
Tips: \$148.19	Gratuity		\$0.00
	Grand Total		\$223.86
	Avg Payrate		\$12.54
Medina, Christopher			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$10.00	30.13	\$301.28
GC COOK	Total	30.13	\$301.28
Sales: \$0.00	Claimed Tips	30.23	\$0.00
Tips: \$0.00	Gratuity		\$0.00
11621 40100	Grand Total		\$301.28
	Avg Payrate		\$10.00
Mendoza, Alejandra	7 to g r dyrate		ψ <u>20.00</u>
Job Title	Pay Rate	Hours	Total
OC - Cashier	\$10.00	29.86	Total \$298.55
OC - Cashler OC - Server	\$5.00	29.86	\$108.95
OC - Server	Total	51.79 51.64	\$407.50
Sales: \$6,050.94	Claimed Tips	31.04	\$0.00
Tips: \$476.66	Gratuity		\$0.00
1163. 347 0.00	Grand Total		\$884.16
	Avg Payrate		\$17.12
Perez, Javier Alejandro	Avgiayiate		717.1Z
	Day Pata	Цент	Total
Job Title	Pay Rate	Hours	Total
Job Title	Total	Hours 0.00	\$0.00
Job Title Sales: \$0.00	Total Claimed Tips		\$0.00 \$0.00
Job Title	Total Claimed Tips Gratuity		\$0.00 \$0.00 \$0.00
Job Title Sales: \$0.00	Total Claimed Tips Gratuity Grand Total		\$0.00 \$0.00 \$0.00 \$0.00
Job Title Sales: \$0.00 Tips: \$0.00	Total Claimed Tips Gratuity		\$0.00 \$0.00 \$0.00
Job Title Sales: \$0.00 Tips: \$0.00 Pineda, Eileen	Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Job Title Sales: \$0.00 Tips: \$0.00 Pineda, Eileen Job Title	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate	0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Job Title Sales: \$0.00 Tips: \$0.00 Pineda, Eileen	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00	0.00 Hours 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96
Job Title Sales: \$0.00 Tips: \$0.00  Pineda, Eileen Job Title OC - Server	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total	0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96
Job Title  Sales: \$0.00  Tips: \$0.00  Pineda, Eileen Job Title  OC - Server  Sales: \$587.66	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total Claimed Tips	0.00 Hours 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96 \$0.00
Job Title Sales: \$0.00 Tips: \$0.00  Pineda, Eileen Job Title OC - Server	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total Claimed Tips Gratuity	0.00 Hours 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96 \$0.00 \$0.00
Job Title  Sales: \$0.00 Tips: \$0.00  Pineda, Eileen Job Title  OC - Server  Sales: \$587.66	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total	0.00 Hours 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96 \$0.00 \$0.00 \$193.11
Job Title  Sales: \$0.00  Tips: \$0.00  Pineda, Eileen Job Title  OC - Server  Sales: \$587.66  Tips: \$45.15	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total Claimed Tips Gratuity	0.00 Hours 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96 \$0.00 \$0.00
Job Title  Sales: \$0.00  Tips: \$0.00  Pineda, Eileen Job Title  OC - Server  Sales: \$587.66  Tips: \$45.15  Puentes, Benito	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 29.59 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96 \$0.00 \$0.00 \$193.11 \$6.53
Job Title  Sales: \$0.00 Tips: \$0.00  Pineda, Eileen Job Title  OC - Server  Sales: \$587.66 Tips: \$45.15  Puentes, Benito Job Title	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	Hours 29.59 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96 \$0.00 \$0.00 \$193.11 \$6.53
Job Title  Sales: \$0.00  Tips: \$0.00  Pineda, Eileen Job Title  OC - Server  Sales: \$587.66  Tips: \$45.15  Puentes, Benito	Total Claimed Tips Gratuity Grand Total Avg Payrate  Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.00 Hours 29.59 29.59	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Total \$147.96 \$147.96 \$0.00 \$0.00 \$193.11 \$6.53

Sales: \$530.62		Claimed Tips		
Tips: \$74.38		tuity	\$0.00 \$74.38	
		Grand Total Avg Payrate		
Ramirez, Emily	Avgru	yruce	\$0.64	
Job Title	Pay Rate	Hours	Tota	
	Total	0.00	\$0.00	
Sales: \$0.00	Claimed Tips		\$0.00	
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00	
	Avg Payrate		\$0.00	
Ramirez, Jasmin			7	
Job Title ´	Pay Rate	Hours	Tota	
	Total	0.00	\$0.00	
Sales: \$0.00	Claimed Tips		\$0.00	
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00	
	Avg Payrate		\$0.00	
Ramirez, Samantha				
Job Title ´	Pay Rate	Hours	Tota	
OC - Cashier	\$10.00	14.70	\$146.98	
C-1 ¢2 700 72	Total	14.70	\$146.98	
Sales: \$2,789.72 Tips: \$218.66	Claimed Tips Gratuity		\$0.00 \$0.00	
1163. 4510.00	Grand Total		\$365.64	
	Avg Payrate		\$24.88	
Rangel, Christopher				
Job Title	Pay Rate	Hours	Tota	
Salas, ća ao	Total	0.00	\$0.00	
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00	
11ps: 30.00	Grand Total		\$0.00	
	Avg Payrate		\$0.00	
Rangel, Steve				
Job Title	Pay Rate	Hours	Tota	
OC - Cook	\$10.00	51.49	\$514.92	
OC - Cook - OT	\$15.00 Total	0.40 <b>51.89</b>	\$5.97 \$520.89	
Sales: \$0.00	Claimed Tips	31.69	\$0.00	
Tips: \$0.00	Gratuity		\$0.00	
	Grand Total		\$520.89	
	Avg Payrate		\$10.04	
Rivera, Erick Job Title	Day Data	Hours	Tata	
Job Title	Pay Rate Total	0.00	Tota \$0.00	
Sales: \$0.00	Claimed Tips	0.00	\$0.00	
Tips: \$0.00	Gratuity		\$0.0	
	Grand Total		\$0.0	
	Avg Payrate		\$0.00	
Rodriguez, Oscar Job Title	Pay Rate	Hours	Tota	
OC - Cook	\$10.00	54.86	\$548.5	
00 000K	Total	54.86	\$548.5	
Sales: \$0.00	Claimed Tips		\$0.0	
Tips: \$0.00	Gratuity		\$0.0	
	Grand Total		\$548.50 \$10.00	
Rodriquez, Samara	Avg Payrate		\$10.0	
Job Title	Pay Rate	Hours	Tota	
	Total	0.00	\$0.0	
Sales: \$0.00	Claimed Tips		\$0.0	
Tips: \$0.00	Gratuity		\$0.0	
	Grand Total		\$0.0	
Tamaya Hailay	Avg Payrate		\$0.0	
Tamayo, Hailey Job Title	Pay Rate	Hours	Tota	
752 THE	Total	0.00	\$0.0	
Sales: \$0.00	Claimed Tips		\$0.0	
Tips: \$0.00	Gratuity		\$0.0	
	Grand Total		\$0.0	
Torros Alovandra	Avg Payrate		\$0.0	
Torres, Alexandra Job Title	Pay Rate	Hours	Tota	
OC - Cashier	\$10.00	8.80	\$87.9	
OC - Server	\$2.15	9.21	\$19.79	
OC - Jeivei		10.00	C107 7	
	Total	18.00	\$107.75	
Sales: \$1,947.27 Tips: \$160.41	Total Claimed Tips Gratuity	18.00	\$0.00 \$0.00	

I	Crand Tatal		¢260.16
	Grand Total Avg Payrate		\$268.16 \$14.90
Torres, Heber	7118. 44.440		<del> </del>
Job Title	Pay Rate	Hours	Total
OC - Cook	\$10.00	40.00	\$400.00
OC - Cook - OT	\$15.00	2.42	\$36.27
	Total	42.42	\$436.27
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$436.27 \$10.29
Trevino, Hannia	Avgiayiate		<b>Ģ10.2</b> 3
Job Title	Pay Rate	Hours	Total
Job Hile	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Valencia, Ivonne			
Job Title	Pay Rate	Hours	Total
OC - Server	\$5.00	72.95	\$364.77
_	Total	72.95	\$364.77
Sales: \$3,417.55	Claimed Tips		\$0.00
Tips: \$261.68	Gratuity		\$18.39
	Grand Total		\$644.84
	Avg Payrate		\$8.84
Vasquez, Jonathan M			
Job Title	Pay Rate	Hours	Total
a I da aa	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00 \$0.00
Various Israe Caulan	Avg Payrate		\$0.00
Vasquez, Jose Carlos Job Title	Day Pata	Цания	Total
Job Title	Pay Rate Total	Hours 0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
11621 46166	Grand Total		\$0.00
	Avg Payrate		\$0.00
Vasquez, Maxine	-		
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Vasquez, Tatyana			
Job Title	Pay Rate	Hours	Total
OC - Cashier	\$10.00	46.34	\$463.41
	Total	46.34	\$463.41
Sales: \$8,684.22	Claimed Tips		\$0.00
Tips: \$692.99	Gratuity		\$75.09
	Grand Total		\$1,231.49
Va - Esta	Avg Payrate		\$26.57
Yoo, Ethan	D D. :		<b>T</b>
Job Title	Pay Rate	Hours	Total
Salasi ÉO OO	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11μ3. 30.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
	Summary		70.00

Summary

Job Code	Total Hours	Regular Hours	OT Hours	Total Pay	Regular Pay	OT Pay
OC - Cook	750.42	666.75	83.67	\$8,003.76	\$6,729.43	\$1,274.33
OC - Server	329.31	329.31	0.00	\$1,337.38	\$1,337.38	\$0.00
OC - Cashier	242.61	242.61	0.00	\$2,426.14	\$2,426.14	\$0.00
OC - Floor Manager	89.87	58.07	31.81	\$1,586.65	\$871.04	\$715.61
OC - General Manager	117.08	80.00	37.08	\$0.00	\$0.00	\$0.00
TOTALS	1,529.30	1,376.75	152.56	\$13,353.93	\$\$11,363.99	\$1,989.94